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101 e/24d| 532,274 519,017 13,257
= 266,137
= 79,841
o 186,296
04 JIZtN2Z2 XS 532,274 519,017 13,257
O Fopel et iie
532,274,000 x14] 532,274
= 266,137
= 79,841
o 186,296
ZOHQI LRt I XI& (AR Rt2]) 29,576 28,841 735
= 14,788
= 4,436
o 10,352
101 @1A4H| 29,576 28,841 735
= 14,788
= 4,436
= 10,352
04 JIZtNZ22 XS24+ 29,576 28,841 735
O ZOHe AIRFHIZXI2
29,576,000 *14] 29,576
= 14,788
= 4,436
= 10,352
o X e X (SXLRtel) 317,85 202,468 115,388
= 158,928
= 47,678
= 111,250
307 elzto| & 317,856 202,468 115,388
= 158,928




2A:
PSER
o e

el

SINESES N}

Hojel £5 N

TOHO MEOIE K

= o

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

47,678
111,250

317,856,000& 14!

HoH W

317,856

317,85
158,928

47,678
111,250

202,468

115,388

HoH W

149,120
119,280
8,952
20,888

109,337

39,783

307 212t01™

HH W

149,120
119,280
8,952
20,888

109,337

39,783

149,120,000 & *14]

HoH W

149,120

149,120
119,280
8,952
20,888

109,337

39,783

HoH W

4,562,822
3,193,975
410,654
958,193

3,957,658

605, 164

0

308 AbXIE

JIS0IA

>

r

MW

4,562,822
3,193,975
410,654
958,193

3,957,658

605, 164

183 S| 2SI ZB&HASAIE

O Foeasiza 20

4,562,822,0002 * 14!

Mo W

4,562,822

4,562,822
3,193,975
410,654
958,193

3,957,658

605, 164

Mo W

77,474
54,232

6,973
16,269

59,989

17,485

308 AtXIEMSOIE

Mo W

77,474
54,232

6,973
16,269

59,989

17,485

S
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KEH
ool

SINESES N}

el 25 XA
Q—OH@ AHSLOLAN X|—C,3J

Ofl &F2H

HMEE
Ofl &k2h

77,474,002 14!

HoH W

77,474

77,474
54,232

6,973
16,269

59,989

M

72,871
14,575
58,296

91,088

18,217

EUNGE

72,871
14,575
58,2%6

91,088

A18,217

72,871,000& %14

M H

72,871

72,871
14,575
58,2%6

91,088

18,217

LEYTHEMIA BFSY XA

H H W

381,029
266,720
34,293
80,016

240,000

141,029

on

308 X

ra

H|

UES

>

HoH W

381,029
266,720
34,293
80,016

240,000

141,029

183 BSI2S0tHeE
O Hofots ¢

AEEENETT
THEMEIA BI2H K2
381,029,000/ +14!

HoH W

381,029

381,029
266,720
34,293
80,016

240,000

141,029

SR Ol =2HES MHIA K|S

HoH W

364,353
255,047
32,792
76,514

455,441

A91,088

308 AHXIHMSO0IA

MW

364,353
255,047
32,792
76,514

455,441

A91,088

13 27/ 2SO CHet 3 A E SIS AL
AHSMHHIAKIR
364,353, 0002 14]

hoH

364,353

364,353
255,047
32,792

455,441

A91,088
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SINESES N}

I FOjOl 2S5 X2
CHel: ZOHQ! MEOrE X (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 2 76,514
HAW LYTOISA SDSHSAHIA 106,571 133,213 126,642
= 74,600
= 9,592
= 22,379
308 XX EHHI S0 & 106,571 133,213 126,642
=2 74,600
= 9,59
2 22,379
13 202 SOlITHBH AR 2| EtAII L] 106,571 133,213 126,642
O HAE LLHS SDSHSAHIAX
a 106,571,000 %141 106,571
= 74,600
< 9,592
2 22,379
ZONRISSH0IHA S| XA () 1,736 2,170 A434
= 434
= 1,302
301 LR HS 1,736 2,170 434
= 434
= 1,302
02 ABIEEEAF2(HLAS, ULH) 1,736 2,170 434
O HOHIGHOINA S| KIBIAHY
1,736,000 %14} 1,736
= 434
z 1,302
ool 'BAD X9 BY T2y 2 32,000 40,000 8,000
= 9,600
z 22,400
307 212+01 & 32,000 40,000 8,000
= 9,600
z 22,400
1A= XA 2 X 32,000 40,000 8,000
O M0l B2 XKEY T2 2
32,000,000 144 32,000
= 9,600
z 22,400
SSIRONQl ALSIEC! D28 KR (HESY) 8,000 10,000 2,000
= 2,400
z 5,600
307 212+01 % 8,000 10,000 2,000
= 2,400
= 5,600
TREETNEEES 8,000 10,000 2,000
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el 25 XA
ZOHQ! MEOHE XIJ

SA - ZE . BR() - HRAR - BES of v G o HIDE2
O LEZ AMRIF0 Z2OB(HE2Y)
k= 8,000,000& *14] 8,000
= 2,400
Ea 5,600
AYFOS =8| XA 91,520 114,400 N22,880
== 18,304
o 73,216
301 22N 91,520 114,400 N22,880
[ 18,304
T 73,216
02 MBI 2EHSFHS(HAANS, XLHE) 91,520 114,400 N22,880
O AZZFOHR 2AZH| XA
91,520,000& » 14 91,520
= 18,304
[Ea 73,216
O&Z0He S MHIA ALY 17,963 22,453 A4,490
s 4,491
s 13,472
307 212+01& 17,963 22,453 A4,490
& 4,491
Ea 13,472
11 AMEISXAEEES 17,963 22,453 4,490
O 40 E8H MHIA AL
17,963,000 » 14 17,963
= 4,491
o 13,472
oty SIS AZ A 5,000 5,000
301 LEN= 5,000 5,000
02 NBI2HHSFS(HAAS, XNLHE) 5,000 5,000
O Foery sdtXEs N
1,000,000& x6H 5,000
A0 ASSHOIZ == MEXIZHl N 3,000 3,000 0
301 LEIE NS 3,000 3,000
02 AR 2EH LGS (HAAS, NLWE) 3,000 3,000
O H2AHO0HQ QIBLBOIR +2 WEXIR
| X2 3,000,000& %1 3,000
ZoHI L Xtel It 2 35,000 35,000 0
307 212+01™ 35,000 35,000
1 AMEISXAIEEXS 35,000 356,000
O ZOoe LXiel It 2
35,000,000 *1IH £ 35,000
ZOHR! JFEAIE O X2 A 6,000 0 6,000
307 212+01& 6,000 6,000
11 AMEISXAEEES 6,000 6,000




2A:

SINESES N}

I-I;_(H: XI»OHO| \:i§ Il%
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O ZOHQ JISAZ 0 X
300,000& *200++ 6,000
HHE o Mo & 3,000 3,000
405 KHoHFSH| 3,000 3,000
01 ML ESFSHI 3,000 3,000
O ZO0HQ XM 2= HUAIE XM 2
600,000 *5CH 3,000
o dsSEEF S| X & UM A 2,000 18,000 16,000
201 2egh=3| 2,000 3,000 A1,000
02 S5=24g4l 2,000 3,000 21,000
O Yol ds=2H7 I RA2cl|
2,000,000 %14 2,000
ST & NHEME SANSE d&S 24204 7,000 0 7,000
aN 224 2as X3
303 Zal= 7,000 7,000
01 Za= 7,000 7,000
O S & NHESAHE SIS At
2 M0 AN ReRN T4
7,000,000 * 14 7,000
HdSE2&F O BHArE X1 4,800 4,800
201 =3 4,800 4,800
01 At22telt] 4,800 4,800
O HSEFT OF2 AR M
8,000 *600H 4,800
ZoH=XAIE 2E 771,184 2,717,554 53,630
= 338,576
o 2,432,608
JofelIsSe=EA2 X 953,393 1,191,741 A\238,348
s 143,009
s 810,384
307 21201 & 953,393 1,191,741 A\238,348
< 143,009
[Ea 810,384
10 AlRIS XA EEE 22X 953,393 1,191,741 A238,348
O ZoHISE=R 2 2SHI(HIFE XIS Ar
B Z&) 953,393,000 * 100 £ 953,393
= 143,009
= 810,384
e F=UESHE 2 156,789 195,986 A39,197
=S 23,518
s 133,271
307 21201 & 156,789 195,986 A39,197
== 23,518
[Ea 133,271




2A:

E M

SINESES N}
e 25 X

Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 156,789 195,986 A39,197
O Yol =U2SHHE2SE
156,789,000 * 100 2 156,789
= 23,518
Ea 133,271
el ssEEINE 2GS 42,666 53,333 /10,667
== 6,400
o 36,266
307 212+01& 42,666 53,333 10,667
< 6,400
= 36,266
10 Al2IS XA EEE 22X 42,666 53,333 10,667
O B ZSMEIIZXR
42,666,000 * 100 2 42,666
= 6,400
Ea 36,266
ZOHQ! MEOISXIJEE 2L 265,876 332,345 66,469
== 53,175
o 212,701
307 212+01& 265,876 332,345 A\66,469
[ 53,175
T 212,701
10 AlRISTIAIEEE 22X 265,876 332,345 66,469
O ZOHQIMBOISTIRHE 22
265,876,000 * 100 2 265,876
= 53,175
[Ea 212,701
SO S 2SS 143,200 179,000 A35,800
s 29,040
s 114,160
307 @I2t01 & 143,200 179,000 /35,800
[ 29,040
Ea 114,160
10 Al2ISTIAIEEE 22X 139,200 174,000 A\34,800
O +UHSHUHZ2E
139,200,000 * 100 A 139,200
= 27,840
o 111,360
1 AMEISXAIEEXS 4,000 5,000 21,000
O e =3tua 23
4,000,000 * 14 4,000
== 1,200
[Ea 2,800
ZojelE oS =XJEH 24 43,278 54,097 210,819
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SINESES N}

ZH: ool 25 X
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,656
s 34,622
307 lztol & 43,278 54,097 210,819
= 8,65
= 34,622
10 Al SXAAEEHE2EHI2x 43,278 54,097 210,819
O HHAEHASII|=X3HH 24
43,278,000 * 10 £ 43,278
=S 8,656
s 34,622
ZOHASXALESANSEE S 37,368 46,710 N9,342
< 11,210
= 26,158
307 elztol & 37,368 46,710 N9,342
= 11,210
= 26,158
10 Al SXAIEEHE2EHI2x 37,368 46,710 N9,342
O ZBUA=SXAIE SANSEESE
36,504,000 * 14 36,504
= 10,951
o 25,553
O HOHAHFAIE SASESE
864,000 x10H A 864
& 259
= 605
ORI X ATHEAIE (BS RS E) 2 (XHAI) 54,000 51,000 3,000
307 el2tol & 54,000 51,000 3,000
10 Al SXAAEEHE 22X 54,000 51,000 3,000
O S =<
250,000 x 13« 122 39,000
O Xl X 250,000 «5CH* 122 15,000
ZOHIXATHEAIE (BSAYE) 2H(EX) 247,554 309,442 61,888
= 44,560
= 202,9%4
307 elztol & 247,554 309,442 61,888
= 44,560
[Ea 202,994
10 Al SXAAEEHE 22X 247,554 309,442 61,888
O FiEsXed 23|
247,554,000 10 £ 247,554
s 44,560
s 202,9%4
ZOHAMATHEAIE JISE2ZT A 54,000 32,300 21,700
401 Al HIZL 201 54,000 0 54,000




2A:

SINESES N}

ZH: ool 25 X
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 54,000 0 54,000
O =t&4 ol+=SF &S A
10,000,000 * 10 2~ 10,000
O U AR 2228 SAt
44,000,000 *14] 44,000
ZofelsX2 ol S4d A 63,360 79,200 15,840
< 19,008
= 44,352
307 lztol & 63,360 79,200 15,840
= 19,008
s 44,352
1 AMEISXAEEXS 63,360 79,200 15,840
O HojeI=R2 018X SAXI
63,360,000 *1IH 2 63,360
= 19,008
o 44,352
KIXMIZOH! OlSEHAXIZAIS (22) 180,000 180,000
307 212+01& 180,000 180,000
05 129l 180,000 80,000
O TIFZOHQ OISHAXIRAIY 2]
15,000,000& * 1 A+ 12 180,000
gz sSE=A2 =4 523,500 523,500
201 Ler=23| 2,000 2,000
01 At2teltl 2,000 2,000
O =Jt Ui &EX Z3EI ===
2,000,000& %14 2,000
401 AIEHIZ SR THYI 521,500 521,500
01 AlZ8| 521,500 521,500
O Z2elHE Alg Z2E(8E) 849
22,000,000 * 14| 22,000
O Molged d& =9
22,000,000& x 14 22,000
O =Jt Y EX 24
400,000,000 *14] 400,000
O EA3E 24l 60,000,000 * 14! 60,000
O 2ASE Mot 8ot 89
15,000,000& » 14 15,000
O =2g 5¢ ==& 2,500,0002 %14 2,500
FofISEEN2 JIsEIAY 6,200 6,200
401 AlZHIZ SO 6,200 6,200
01 AlZ28| 6,200 6,200
O =58 I2=J| €X € 88l JIsEZ
6,200,000 * 104 2 6,200
O Atslgs X2 2,000 0 2,000
ORI EFIAS 2L YA EE=SS 2,000 2,000
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M YR 25 K&

chelr ZoHe! Alslgs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,000 2,000
01 At2teltl 2,000 2,000
O BUAESFIUHS =28 A 82
=3 2,000,000 %14 2,000
HY2HHH(SXHE24D) 64,016 65,828 1,812
JlE2ZdeI(SXEA) 64,016 65,828 A1,812
JlE2ZHI(SXE ) 24,200 24,860 AB60
201 el 20,000 20,000 0
01 At2t2ltl 20,000 20,000 0
O RA2HI(S5N) 20,000,000 20,000
203 HR=H] 4,200 4,860 A660
MU A2 LRFAI 4,200 4,860 660
O BNSYYLET(FRI2Y)
4,200,000 4,200
JlE2ZH(SX8EE) 9,45 12,600 A3, 144
201 et 3| 7,776 10,080 A2,304
01 At22t2l] 7,776 10,080 A2,304
O =SXddE A SEhl
7,776,000& 7,776
202 04l 1,680 2,520 AB40
01 =LHAHI 1,680 2,520 N840
O J12 = 1,680,000 1,680
I =2ZHI(SEEAE) 11,256 9,7R 1,464
201 Zet=3h] 8,736 6,912 1,824
01 AtR2te|HI 8,736 6,912 1,824
O SEXAE 2T =]
8,736,000& 8,736
202 04| 2,520 2,880 A360
01 SLHoIH 2,520 2,880 360
O JlE =0l 2,520,000 2,520
Jl2ZHl(sle=XE) 13,344 12,096 1,248
201 Ler=23 | 9,504 9.216 288
01 At2teltl 9,504 9,216 288
O slg=Ng ez S|
9,504,000 9,504
202 04| 3,840 2,880 960
01 ZLHAH| 3,840 2,880 960
O 212 =Wt 3,840,000& 3,840
Jl2ZH(HA=XS) 5,760 6,480 AT
201 Ler23 | 3,840 2,880 960
01 At2teltl 3,840 2,880 960
O YieI=XE g2F8 S|
3,840,000 3,840
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=aak

=XIF D
BHS S| (ST
ESEENIY

SoT oo

J23EI(SXE 20

SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 1,920 3,600 1,680
01 2LHoIH 1,920 3,600 21,680
O J1Z2 = 1,920,000& 1,920
Heas(=SXEH) 1,009,132 1,118,110 /108,978
LIS HHXIE 1,009,132 1,118,110 108,978
WRAHHXE(2AZS0) 1,009,132 1,118,110 108,978
701 JIEHRIHSEES 1,009,132 1,118,110 108,978
01 JIEtl AN ES 1,000,132 1,118,110 /108,978
O A=S0AMY SEINH HES
1,009, 132,000 1,000,132
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